BIG BASH LEAGUE DECEMBER 16 2022

MELBOURNE STARS V HOBART HURRICANES LIBRARY FACT SHEET

The Lead Up

Twenty20 cricket began around the cricket world in the early years of this century. Initially a six-team state-based competition was set-up in Australia. In the 2011-12 season the city franchise-based tournament, The Big Bash League (BBL), was established. The BBL comprised eight teams including two from both Melbourne and Sydney. In the 2011-12 tournament (BBL01) each team played the seven others once (28 matches) followed by two semi-finals and a final which was won by the Sydney Sixers. In the second season each team played six others once and one twice (32 matches) followed by the finals. This allowed both Melbourne and Sydney to introduce the "local derby" with a resulting boost in attendances. In following seasons, the number of home-and-away matches increased and all teams have played each other twice (56 matches) starting in 2017-18. From the 2019-20 season the existing finals format was replaced by a five-team final series; the operation of which is explained below under *Finals BBL11*.

Summary Review of Season 2021-22 (BBL11)

	Р	W	L	Α	AT	BPts	Adj	Pts	NetRR
Perth Scorchers	14	11	3	0	0	8	-1	40	0.926
Sydney Sixers	14	9	4	0	1	6.5	0	35	1.027
Sydney Thunder	14	9	5	0	0	8	0	35	0.725
Adelaide Strikers	14	6	8	0	0	10	0	28	0.237
Hobart Hurricanes	14	7	7	0	0	6	0	27	-0.332
Melbourne Stars	14	7	7	0	0	5	0	26	-0.222
Brisbane Heat	14	3	11	0	0	7	0	16	-0.91
Melb. Renegades	14	3	10	0	1	5.5	0	16	-1.477

Notes:

3 points are awarded for a win, 1.5 to each team for a tie, no result or abandoned match.

A bonus point is awarded halfway through the second innings of a match. The team chasing is awarded the point if it is above the equivalent 10-over score of the opposition. If it is trailing the fielding side will be awarded the point.

AT signifies a match abandoned without a ball being bowled but with the toss being made (1.5 points to each team).

The adjustment to Perth Scorchers' total points is in respect of an ineligible player being played against Adelaide Strikers on 14 January, 2022. Net run rate is calculated by deducting from the average runs per over scored by a team in the tournament, the average runs per over scored against it.

Finals 2021-2022 (BBL11)

The Eliminator (Fourth v Fifth)

At MCG, January 21, 2022: **ADELAIDE STRIKERS 6/188** (20 overs) (MW Short 89, AT Carey 67; RP Meredith 2/37, TS Rogers 2/37) **defeated HOBART HURRICANES 166** (19.4 overs) (DJM Short 56, CP Jewell 35; PM Siddle 4/32, HTRJY Thornton 2/25, HNA Conway 2/32) **by 22 runs.** *Player of the Match*: Matthew Short

The Qualifier (First v Second)

At Marvel Stadium, Melbourne, January 22, 2022: **PERTH SCORCHERS 3/189** (20 overs) (JP Inglis 79, KR Patterson 64; HL Kerr 2/37) **defeated SYDNEY SIXERS 140** (19.2 overs) (BJ Dwarshuis 66; AC Agar 2/16, JA Richardson 2/21, JP Behrendorff 2/31, AJ Tye 2/38) by **49 runs**. *Player of the Match:* Josh Inglis

The Knock-out (Third v winner of Eliminator)

At MCG, January 23, 2022: **ADELAIDE STRIKERS 6/184** (20 overs) (IA Cockbain 65, MW Short 39; TS Sangha 2/15, GS Sandhu 2/40) **defeated SYDNEY THUNDER 6/178** (20 overs) (JJ Sangha 61, Al Ross 56; HNA Conway 2/33, PM Siddle 2/41) **by six runs.** *Player of the Match*: Ian Cockbain

The Challenger (Winner of Knock-Out v loser of Qualifier)

At SCG, January, 26, 2022: **ADELAIDE STRIKERS 4/167** (20.0 overs) (JW Wells 62, IA Cockbain 48, MT Renshaw 36*; SA Abbott 3/27) **lost to SYDNEY SIXERS 6/170** (20 overs) (HL Kerr 98*, SA Abbott 41; HNA Conway 2/37, HTRJY Thornton 2/40) **by four wickets**. *Player of the match:* Hayden Kerr

The Final (Winner of Qualifier v winner of Challenger)

At Marvel Stadium, Melbourne, January 28, 2022: **PERTH SCORCHERS 6/171** (20 overs) (LJ Evans 76*, AJ Turner 54; NM Lyon 2/24, SNJ O'Keefe 2/43) **defeated SYDNEY SIXERS 92** (16.2 overs) (DP Hughes 42; AJ Tye 3/15, JA Richardson 2/20) **by 79 runs.** *Player of the match:* Laurie Evans

Today's Match: The Squads



Melbourne Stars

Adam Zampa (captain) Joe Burns, Hilton Cartwright, Joe Clarke, Brody Couch, Nathan Coulter-Nile, Sam Elliott, Liam Hatcher, Clint Hinchliffe, Campbell Kellaway, Nick Larkin, Glenn Maxwell, Cam McClure, Tom O'Connell, Marcus Stoinis, Beau Webster, Trent Boult, Luke Wood, Tom Rogers



Hobart Hurricanes

Matthew Wade (Captain), Asif Ali, Faheem Ashraf, Tim David, Nathan Ellis, Caleb Jewell, Shadab Khan, Ben McDermott, Riley Meredith, Mitch Owen, Joel Paris, Wil Parker, D'Arcy Short, Billy Stanlake, Paddy Dooley, Chris Tremain, Mac Wright, Zak Crawley (overseas replacement for Shadab Khan)

Summary Results of Matches between the two Teams

Bellerive Oval, Hobart	January 9, 2012	Stars 3/203	Hurricanes 9/184	Stars won by 19 runs
MCG	December 15, 2012	Hurricanes 8/134	Stars 6/135	Stars by four wickets
MCG	January 21, 2014	Hurricanes 9/131	Stars 5/135	Stars by five wickets
MCG (semi-final)	February 4, 2014	Stars 8/141	Hurricanes 3/142	Hurricanes by seven wickets
MCG	December 20, 2014	Hurricanes 5/190 Stars 9/138		Hurricanes by 52 runs
MCG	January 6, 2016	Hurricanes 124	Stars 2/126	Stars by eight wickets
Bellerive Oval, Hobart	December 26, 2016	Hurricanes 4/188	Stars 3/191	Stars by seven wickets
MCG	January 27, 2018	Hurricanes 7/185	Stars 7/186	Stars by three wickets
Bellerive Oval, Hobart	December 24, 2018	Stars 5/155	Hurricanes 4/156	Hurricanes by six wickets
MCG	January 14, 2019	Hurricanes 2/185	Stars 126	Hurricanes by 59 runs
Bellerive Oval (semi-final)	February 14, 2019	Hurricanes 7/153	Stars 4/157	Stars by six wickets
Summerton Reserve, Moe	December 22, 2019	Stars 4/163	Hurricanes 111	Stars by 52 runs
York Park, Launceston	December 30, 2019	Hurricanes 5/69	Stars 3/55	Stars by four runs (DLS Method)
Bellerive Oval, Hobart	January 2, 2021	Hurricanes 5/164	Stars 9/143	Hurricanes by 21 runs
Bellerive Oval, Hobart	January 4, 2021	Stars 6/183	Hurricanes 6/173	Stars by 10 runs
Bellerive Oval, Hobart	December 24, 2021	Hurricanes 6/180	Stars 9/156	Hurricanes by 24 runs
MCG	January 19, 2022	Stars 2/273	Hurricanes 6/167	Stars by 106 runs

The two teams have met on 17 occasions during BBLs 01-11 including semi-finals in BBLs 03 and 08. The Stars have won 11 and the Hurricanes six. Each has won one of the semi-finals. Eight of the matches have been played on the MCG with five being won by the Stars while, of the seven played on Bellerive Oval, the Stars have won four. The two matches played at other venues were won by the Stars.

Twenty20 Big Bash League: A Review of BBL01-BBL11 (Seasons 2011/12-2021/22)

	BBL01	02	03	04	05	06	07	08	09	10	11
TEAM	2011/12	12/13	13/14	14/15	15/16	16/17	17/18	18/19	19/20	20/21	21/22
Strikers	6th	5th	7th	Btn SF	Btn SF	6th	Won	7th	Btn K-o	Btn Elim	Btn Ch
Heat	5th	Won	5th	8th	6th	Btn SF	7th	5th	7th	Btn Ch	7th
Hurric.	Btn SF	6th	R/Up	5th	7th	7th	R/Up	Btn SF	Btn Elim	6th	Btn Elim
Reneg.	7th	Btn SF	6th	6th	5th	5th	Btn SF	Won	8th	8th	8th
Stars	Btn SF	Btn SF	Btn SF	Btn SF	R/Up	Btn SF	8th	R/Up	R/Up	7th	6th
Scorch.	R/Up	R/Up	Won	Won	Btn SF	Won	Btn SF	8th	6th	R/Up	Won
Sixers	Won	7th	Btn SF	R/Up	8th	R/Up	5th	Btn SF	Won	Won	R/Up
Thund.	8th	8th	8th	7th	Won	8th	6th	6th	Btn Ch.	Btn K o	Btn Ko

Result Summary (BBL01-BBL11)

Team	Span	Mat	Won	Lost	Tie+W	Tie+L	NR	AT	%W
Adelaide Strikers	2011/2022	119	60	56	0	0	3		50.4
Brisbane Heat	2011/2022	119	50	68	0	1	1		42.0
Hobart Hurricanes	2011/2022	120	58	60	0	0	2		48.3
Melbourne Renegades	2011/2022	117	48	68	0	0	0	1	41.0
Melbourne Stars	2011/2022	125	65	59	1	0	1		52.0
Perth Scorchers	2011/2022	128	76	51	1	0	1		59.4
Sydney Sixers	2011/2022	125	73	50	2	2	1	1	58.4
Sydney Thunder	2011/2022	119	49	67	0	1	3		41.1

Note: Tied matches decided by a "Super Over" bowled to each team at match end. The result is included in either the *Won* or *Lost* columns. AT signifies a match being abandoned without a ball being bowled but with the toss being made (1.5 points to each team). NR signifies No Result (1.5 points each team).

BBL01-11: A STATISTICAL SUMMARY

Team Highest Innings Totals

Score	Team	Opponent	Date	Location
273-2	Melbourne Stars	Hobart Hurricanes	19 January, 2022	MCG
232-5	Sydney Thunder	Sydney Sixers	22 January, 2021	Adelaide Oval
223-8	Hobart Hurricanes	Melbourne Renegades	12 January, 2017	Melbourne Docklands
222-4	Melbourne Renegades	Hobart Hurricanes	12 January, 2017	Melbourne Docklands
219-1	Melbourne Stars	Sydney Sixers	12 January, 2020	Melbourne, MCG
219-7	Sydney Thunder	Melbourne Stars	29 December, 2020	Manuka, Canberra
217-1	Hobart Hurricanes	Adelaide Strikers	26 January, 2020	Adelaide
213-2	Hobart Hurricanes	Sydney Sixers	11 December, 2021	SCG
213-3	Perth Scorchers	Brisbane Heat	11 January, 2020	Perth Stadium

Team Lowest Completed Innings Totals

Score	Team	Opponent	Date	Location
57	Melbourne Renegades	Melbourne Stars	3 January, 2015	Melbourne, Docklands
60	Melbourne Renegades	Sydney Sixers	13 December, 2020	Hobart
61	Melbourne Stars	Sydney Sixers	5 December, 2021	Sydney, SCG
68	Adelaide Strikers	Melbourne Stars	15 January, 2021	Melbourne, MCG
69	Perth Scorchers	Melbourne Stars	12 December, 2012	Perth, WACA
73	Brisbane Heat	Sydney Sixers	18 January, 2018	Sydney, SCG
74	Sydney Sixers	Melbourne Stars	10 February, 2019	Melbourne, MCG
76	Sydney Sixers	Sydney Thunder	18 January, 2020	Sydney Showground

Best Batting Scores

Player	Runs	Balls	4s	6s	SR	Team	Opposition	Ground	Date
GJ Maxwell	154*	64	22	4	240.62	Melb. Stars	Hobart Hurricanes	MCG	19 Jan. 22
MP Stoinis	147*	79	13	8	186.08	Melb. Stars	Sydney Sixers	MCG	12 Jan. 20
MS Wade	130*	61	11	7	213.11	Hob. Hurricanes	Adelaide Strikers	Adelaide	26 Jan. 20
BR McDermott	127	65	9	9	195.38	Hob. Hurricanes	Melb. Renegades	Docklands	29 Dec. 21
DJM Short	122*	69	8	8	176.81	Hob. Hurricanes	Brisbane Heat	Brisbane	10 Jan. 18
LJ Wright	117	60	8	9	195.00	Melb. Stars	Hurricanes	Hobart	9 Jan. 12
JB Weatherald	115	70	9	8	164.29	Adelaide Strikers	Hobart Hurricanes	Adelaide	4 Feb. 18
C Munro	114*	73	8	6	156.16	Perth Scorchers	Adelaide Strikers	Syd. Shwgds	11 Dec. 21
BR McDermott	114	52	8	9	219.23	Hob. Hurricanes	Melb. Renegades	Docklands	12 Jan. 17
CJ Ferguson	113*	53	8	8	213.20	Sydney Thunder	Perth Scorchers	Perth Stad.	24 Jan. 19
CJ Simmons	112	58	4	11	193.10	Perth Scorchers	Sydney Sixers	Syd SCG	5 Feb. 14
LA Pomersbach	112*	70	15	2	160.00	Brisbane Heat	Melb. Renegades	Docklands	15 Jan. 13
AJ Finch	111*	65	12	4	170.76	Melb. Renegades	Melb. Stars	Docklands	7 Dec. 12
BR McDermott	110*	60	12	5	183.33	Hob. Hurricanes	Adelaide Strikers	Hobart	27 Dec. 21
AD Hales	110	56	9	8	196.43	Sydney Thunder	Sydney Sixers	Adelaide	22 Jan 21

Best Bowling in an Innings

Player	Overs	Mdns	Runs	Wkts	Econ	Team	Opposition	Ground	Match Date
SL Malinga	4.0	1	7	6	1.75	Melbourne Stars	Scorchers	Pth, WACA	12 Dec 2012
IS Sodhi	3.3	0	11	6	3.14	Adelaide Strikers	Syd Thunder	Syd Shwgd	18 Jan 2017
Rashid Khan	4.0	0	17	6	4.25	Adelaide Strikers	Bris. Heat	Brisbane	12 Jan 2022
DT Christian	4.0	0	14	5	3.50	Hob. Hurricanes	Strikers	Hobart	2 Jan 2017
Mujeeb	4.0	0	15	5	3.75	Brisbane Heat	Hurricanes	Brisbane	30 Dec 2020
Zadran									
PM Siddle	3.3	0	16	5	4.57	Adelaide Strikers	Hurricanes	Launceston	15 Dec 2020
SA Abbott	4.0	0	16	5	4.00	Sydney Sixers	Strikers	Adelaide	31 Dec 2016
A Zampa	3.2	0	17	5	5.10	Melbourne Stars	Strikers	MCG	15 Jan 2021
DJM Short	4.0	0	21	5	5.50	Sydney Thunder	Hurricanes	Hobart	24 Jan 2020
C Boyce	4.0	0	21	5	5.25	Melb. Renegades	Syd.Thunder	MCG	19 Jan 2022
S Badree	4.0	0	22	5	5.50	Brisbane Heat	Melb Stars	MCG	14 Jan 2016

MCC Library's catalogue is available online at tinyurl.com/mcclcatalogue and through the MCC Library webpage at tinyurl.com/melbccl
Follow @MelbCCLibrary, and on Instagram and Twitter for your posts include #MelbCCLibrary and #MCG
Fact sheet research by MCC Library volunteer Ross Perry, Edited by David Studham and Trevor Ruddell
Thanks to http://www.bigbashboard.com, http://cricketarchive.co.uk and http://stats.espncricinfo.com
Additional source: Australian Cricket Digest (Ed. Lawrie Colliver) – various issues

Highest Partnerships by Wicket

Wkt	Runs	Partners	Team	Opposition	Ground	Match Date
1st	207	MP Stoinis, HWR Cartwright	Melb Stars	Syd Sixers	MCG	12 Jan 2020
2nd	167*	JR Philippe, JM Vince	Sydney Sixers	Hurricanes	Sydney	23 Jan 2019
3rd	151	BR McDermott, GJ Bailey	Hurricanes	Melb Renegades	Docklands	12 Jan 2017
4th	151	JM Clarke, HWR Cartwright	Melb. Stars	Brisbane Heat	Brisbane	27 Dec, 2021
5th	137*	CT Bancroft, HWR Cartwright	Scorchers	Sydney Thunder	Sydney	11 Jan 2018
6th	94*	Mohammad Nabi, DT Christian	Melb. Renegades	Adelaide Strikers	Adelaide	23 Dec 2018
7th	88	TK Curran, SA Abbott	Sydney Sixers	Sydney Thunder	Sydney	24 Dec 2018
8th	79	XC Bartlett, MT Steketee	Brisbane Heat	Sydney Thunder	Brisbane	19 dec. 2021
9th	60	JJ Peirson, Mujeeb Zadran	Brisbane Heat	Adelaide Strikers	Brisbane	23 Dec 2020
10th	61*	DJ Worrall, DR Briggs	Adelaide Strikers	Hobart Hurricanes	Hobart	13 Dec 2020

Tied Matches

Team 1	Team 2	Location	Match Date	Won Eliminator
Sydney Sixers	Perth Scorchers	Sydney Cricket Ground	10 Jan 2014	Perth Scorchers
Melbourne Stars	Sydney Sixers	Melbourne Cricket Ground	5 Jan 2015	Melbourne Stars
Brisbane Heat	Sydney Sixers	Brisbane Cricket Ground	25 Jan 2017	Sydney Sixers
Sydney Sixers	Sydney Thunder	Sydney Cricket Ground	28 dec 2019	Sydney Sixers

Career Runs: BBL01-11

DI	84		NO	_ n	ш	A	D-II-	0404-	400		١ ٥		
Player	M	l	NO	R	HS	Ave	Balls	StRte	100	50	0	4	6
CA Lynn	102	100	11	3005	101	34.54	2020	148.76	1	24	6	233	180
AJ Finch	87	86	5	2817	111	34.78	2102	134.02	2	22	5	247	104
GJ Maxwell	100	95	16	2677	154	33.89	1772	151.07	2	18	5	220	109
JW Wells	111	103	30	2555	73	35.00	2080	122.84	0	14	4	212	40
DJM Short	72	72	8	2553	122	39.89	1910	133.66	2	20	6	244	90
SE Marsh	68	68	8	2398	99*	38.97	1865	128.58	0	22	2	213	77
MC Henriques	103	98	17	2340	77*	28.89	1776	131.76	0	12	5	173	72
MP Stoinis	82	79	15	2307	147	36.05	1735	132.97	1	15	5	203	80
MS Wade	81	77	10	2156	130	32.18	1513	142.50	1	15	3	178	74
BR McDermott	74	71	13	2139	127	36.88	1540	138.90	3	10	3	139	102
DP Hughes	94	89	13	2076	96	27.32	1717	120.91	0	13	6	189	50
DT Christian	121	113	29	2009	75	23.92	1469	136.76	0	9	8	138	96
M Klinger	71	71	7	1947	105	30.42	1650	118.00	1	12	6	187	37
CJ Ferguson	87	83	10	1935	113	26.51	1562	123.88	1	8	7	163	41
MR Marsh	70	69	20	1904	100	38.86	1410	135.04	1	12	3	125	84
JB Weatherald	77	76	5	1881	115	26.49	1458	129.01	1	13	1	184	72
NJ Maddinson	99	95	6	1869	85	21.00	1512	123.61	0	9	6	170	77
AD Hales	60	60	4	1857	110	33.16	1227	151.34	1	12	6	192	85
UT Khawaja	59	59	6	1818	109	34.30	1400	129.86	2	10	4	216	29

Career Wickets: BBL01-11

Player	M	ı	Balls	Mdn	R	W	Ave	Best	Econ	V	Vkts/Inn	S
								Bowlng		3W	4W	5W
SA Abbott	94	93	1847	1	2609	125	20.87	5/16	8.48	16	3	1
AJ Tye	85	84	1777	1	2283	118	19.35	5/23	7.71	14	5	1
KW Richardson	90	88	1949	5	2557	117	21.85	4/22	7.87	17	5	0
B Laughlin	96	95	1999	1	2694	111	24.27	4/26	8.08	11	2	0
BJ Dwarshuis	83	81	1720	1	2341	102	22.95	5/26	8.16	11	1	1
A Zampa	85	84	1849	1	2229	98	22.74	5/17	7.23	7	0	1
Rashid Khan	61	61	1430	1	1536	92	16.70	6/17	6.44	8	1	1
PM Siddle	68	68	1413	2	1746	90	19.40	5/16	7.41	13	2	2
CJ Boyce	80	79	1672	0	2114	89	23.75	5/21	7/59	8	1	1
DT Christian	121	106	1790	0	2468	89	27.73	5/14	8.27	8	2	2
JP Behrendorff	72	72	1548	2	1786	86	20.77	4/22	6.92	5	1	0
Fawad Ahmed	95	92	2049	3	2442	86	28.40	4/14	7.15	8	1	0
DR Sams	62	60	1218	2	1683	82	20.52	4/14	8.29	10	3	0
JP Faulkner	70	70	1339	3	1739	80	21.74	4/46	7.79	10	1	0